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On which planetWillobject wove
fastestwhen it hits the surface
Hus:It'llbe Neptune becauseit he, the

strongestgravitational fora (acreLerato)
rsurface"gtS its E" time it takes to hitThe surface
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Neptune: 9=11.24/5 -
0= I's11.2.. Ten+100 = -5.6.tstoo
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C)On whichplenet will it more sweet.9

Anh: Mars, because it hastheweakest
gravitationalForce (acceleration)



12)Desirehowthe differ from the base function
Y=X2

a)4=1×4723)4=72+7
Ans: translated
Z units left

Ans:translatedFruits up
4y.~2/X=4)Zat| 4=-2*7.4



13)alfixtfox? fhi)=100×2

FWNE1000×2
fix)9/00002

KrisIt gets nanoronarrower
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13b)AXI = 0.1×2 floi=01 or XL|

fix: 0.001 X'
fix)=0.0001x2
|Ans:

Itm gets wider
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14)Wife the equation for each parabola
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a)y= -XI

b)y =-2 {X-2y
C)• " X-4)2
d)= -1×+232e\y.
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